
ML Theory — Homework 1

your NetID here

Version 0

Instructions. (Different from homework 0.)

• Everyone must submit an individual write-up.

• You may discuss with up to 3 other people. State their NetIDs clearly on the first page. Outside of
office hours, you should not discuss with anyone but these three.

• Homework is due Wednesday, October 10, at 3:00pm; no late homework accepted.

• Please consider using the provided LATEX file as a template.
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1. (Miscellaneous short questions.)

Provide complete proofs, but try to find short solutions.

(a) (Justifying uniform norm: upper bound.) Suppose ` is L-lipschitz, and µ is a probability
measure supported on [0, 1]d × {−1,+1}. Show

R`(f)−R`(g) =

∫
`(−yf(x)) dµ(x, y)−

∫
`(−yg(x)) dµ(x, y) ≤ L‖f − g‖u.

(b) (Justifying uniform norm: lower bound.) Given any two continuous functions f and g,
construct an L-lipschitz loss ` and a probability measure µ so that the previous part is tight: that
is,

R`(f)−R`(g) = L‖f − g‖u.

Remark: together, we’ve shown why we aim for uniform approximation (it implies bounds for all
measures).

(c) (Stone-Weierstrass with cos.) Use the Stone-Weierstrass theorem, as stated in lecture 5 (do
not use another source), to prove that for every continuous function f : Rd → R and ε > 0, there
exists g ∈ span(Hcos) with ‖f − g‖u ≤ ε. (Hint: refresh yourself on some trig identities.)

(d) (Deep, narrow networks.) Let σr(z) := max{0, z} denote the ReLU, and for convenience let
~σr denote the coordinate-wise version of appropriate dimension (i.e., ~σr(v) outputs a vector of the
same dimension as v, whatever it happens to be).

Suppose f : [0, 1]d → R can be written as a network with a single ReLU layer, specifically
f(x) = A2 ~σr(A1x + b1) where A1 ∈ Rw×d and A2 ∈ R1×w. Construct a network with w ReLU
layers and width d+ 3 which also (exactly) computes f .

Remark: this reveals some convenient properties of ReLUs.

(e) (Uniform approximation with ReLU.) Again define σr(z) := max{0, z}. Construct φ ∈
span(Hσr

) which satisfies the conditions of Theorem 1.9 from Lecture 5 (and provide explicit
verification of these conditions).

Remark: consequently, Theorem 1.9 may be applied, and thus shallow ReLU networks fit
continuous functions.

Solution.

(Your solution here.)
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2. (More headaches from Minsky-Papert.)

Recall again the Minsky-Papert XOR problem, as appeared in Lecture 2. Let S := {x(1), x(2), x(3), x(4)}
denote the four points in that problem.

(a) Find a small axis-aligned decision tree which predicts perfectly on S.

(b) Recall the class of boosted decision stumps: these are linear combinations of axis aligned decision
trees with only one internal node. That is to say, a boosted decision stump is a function of the
form

x 7→
N∑
i=1

αi1[xji ≥ bi]

where (α1, . . . , αN ) are scalar, each ji ∈ {1, . . . , d} indexes a single coordinate, and (b1, . . . , bN )
are scalars.

Problem. Let ε > 0 be given and construct (a) an axis-aligned decision tree g which predicts
perfectly, (b) a boosted decision stump f which is incorrect on half of S, but

ρ(f, g) :=

∫
[−1,+1]2

|f(x)− g(x)|dx ≤ ε.

Note. Rather than the usual ‖f − g‖1 which integrates over [0, 1]d, we are integrating over
[−1,+1]2.

(c) Prove that there can not exist a perfect boosted decision stump for the Minksy-Papert instance
above.

Remark. First of all, this tells us some limitations of ‖ · ‖1 approximation. Second of all, it tells
us that boosted decision stumps, which were popular during roughly 1995-2005, are not so good.

Solution.

(Your solution here.)
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3. (Branching programs and decision trees.)

Recall the discussion from the end of Lecture 5, regarding the size of f(x) := 1
d

∑d
i=1 xi with x ∈ {0, 1}d

when represented as a decision tree and a branching program. A branching program of size O(d2) was
provided.

This question will prove that any decision tree needs size at least 2d. In this question, the predicates
computed by internal nodes are decision stumps, meaning they have the form 1[xi ≥ b] where
i ∈ {1, . . . , d} and b ∈ R.

(a) As discussed in class, the leaves of the tree form a partition of the input space (in this case {0, 1}d).
Each leaf can therefore be associate with a string s of length d, where si ∈ {∅,−1,+1, ?} means
that inputs reaching this node respectively have nothing, -1, +1, or ±1 in coordinate i.

Prove that given any leaf, its associated string has at least d− p entries equal to ?, where p is the
number of internal nodes (predicates) along the root-to-leaf path for this leaf.

(b) Use the preceding part to prove that any decision tree with strictly less than 2d internal nodes
must fail to represent f (that is, it is incorrect on at least one input string x ∈ {0, 1}d).

Solution.

(Your solution here.)
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4. (2-layer networks fit continuous functions.)

Recall from class the definition

Hσ :=
{
x 7→ σ(〈a, x〉+ b) : a ∈ Rd, b ∈ R

}
.

Using Stone-Weierstrass, we proved we can approximate continuous functions with span(Hexp). It was
then claimed that the rest of the proof is “essentially univariate”; this exercise completes that proof.

One more piece of notation is needed. Say that σ : R → R is sigmoidal when it is nondecreasing,
continuous, and

lim
z→−∞

σ(z) = 0, lim
z→∞

σ(z) = 1.

(a) The first missing piece is to assert that we really are left with a univariate problem. Namely, prove
the following.

Let σ : R→ R and φ : R→ R be given. Suppose that for any interval [r, s] and any τ > 0,
we can always find h ∈ span(Hσ) so that

sup
{
|h(x)− φ(x)| : x ∈ [r, s]|

}
≤ τ.

(In words: we have a way to approximate φ along [r, s] with span(Hσ).) Then for any
ε > 0 and any g ∈ Hφ but now g : Rd → R, we can still choose f ∈ span(Hσ) with
‖f − g‖u ≤ ε.

(b) Let sigmoidal σ : R → R, target error τ > 0, interval [r, s], and a function ψ : R → R be given
with ψ Lipschitz continuous along [r, s]. Show that there exists h ∈ span(Hσ) satisfying

sup
{
|h(x)− ψ(x)| : x ∈ [r, s]|

}
≤ τ.

Hints. (a) Note that for large M , σ(Mx) ≈ 1[x ≥ 0]; (b) consider drawing a picture for the
simpler case of nonincreasing ψ, with special attention to the meaning of Lipschitz continuity.

(c) Prove that exp and cos are Lipschitz continuous along any bounded interval. (Yup, that’s really
all you need to do for this part.)

Though you don’t need to write anything about it here, I urge you to verify that the preceding steps
can be combined with the material in lecture to complete the proof.

Solution.

(Your solution here.)
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5. (A nuisance.)

Recall that the lectures on approximation of continuous functions by 2- and 3-layer networks did not
include a nonlinearity on the final output. This exercise points out that we can use those as a lemma to
establish that networks with final nonlinearities can also approximate continuous functions (albeit with
restrictions on the range).

Throughout this exercise, suppose a function class F is given which fits continuous functions in our
usual sense: for any continuous g : Rd → R and any τ > 0, there exists f ∈ F with ‖f − g‖u ≤ τ .

The following notation will be handy. Namely, given univariate σ : R→ [0, 1], define the function class

Fσ := {σ ◦ f : f ∈ F}.

(a) Suppose σ : R→ [0, 1] is sigmoidal (as in the previous exercise), Lipschitz, and has a continuous
inverse.

Show that for any continuous g : Rd → (0, 1) and any ε > 0, there exists h ∈ Fσ with ‖h− g‖1 ≤ ε.
Hint. Find a way to bake the inverse into the problem.

(b) (Optional; hard mode.) Suppose σ : R→ [0, 1] is sigmoidal.

Show that for any continuous g : Rd → [0, 1] and any ε > 0, there exists h ∈ Fσ with ‖h− g‖u ≤ ε.
Note. If you do this part, you must still provide a complete independent solution to the previous
part. Be nice to the TA. . .

Solution.

(Your solution here.)

6



6. (New problem appearing before October 1.)

Solution.

(Your solution here.)
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7. (New problem appearing before October 1.)

Solution.

(Your solution here.)
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8. (Why?)

You receive full credit for this question so long as you write at least one sentence for each answer. Please
be honest and feel free to be critical.

(a) Why are you taking this class? What do you expect from it?

(b) What do you expect to gain (e.g., in research, work, life) by knowing ML Theory?

(c) Do you have any feedback about the class, lectures, or instructor?

Solution.

(Your solution here.)
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